— R I7REA 1 R DFHHE3-1

1 R AR OfEX 53
NO. | i /8 A

& KOFBRAEMER S,
(1) 3 x +9 =4 x + 7

(2) 6 x — 3 =—24 — 4
(3) 10 x + 5 =5 5 — 15
(4) 12 — 4 x = —18 + 6 «

) 3 —x =9 x + 5

6) 5 x — 12 =2 x — 36
(7) 2 x — 8 = 6 x — 16
(8) 3 x — 9 =8 x — 19
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(nHn 3 x + 9 = 4 x + 17
x — 4 x = 7T - 9
- x = _2
x = 2
2) 6 x — 3 = 24 -
x + x = —24 + 3
7 x =21
x = -3
(3) 10 x + b = 5 x — I5
10 x — 5 x = —-15 — b
5 x = -20
x = -4
(4) 12 - 4 x = —I18 + 6 g
- 4 x — 6 x = —-18 — 12
-10 x = -30
X — 3
G) 3 — x = 9 x + 5
- x — 9 x =5 — 3
-10 x = 2
Lo
5
(6) 5 x — 12 = 2 x — 36
5 x — 2 x = =36 + 12
3 x = -24
x = -8
(7 2 x — 8 = 6 x - |16
2 x — 6 x = -16 + 8
-4 x -8
x = 2
8 3 x — 9 = 8 x - 19
3 x — 8 x = -19 + 9
-5 x = -10
x = 2
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